Manuals+ — User Manuals Simplified.

BenQ SNS21 Ambient Light Rejecting Screenben User Manual

Home » BenQ » BenQ SNS21 Ambient Light Rejecting Screenben User Manual -

BenQ SNS21 Ambient Light Rejecting Screenben User Manual

ALR Screen Flat Screen



https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/benq
https://manuals.plus/benq/sns21-ambient-light-rejecting-screenben-manual.pdf

Contents

1 Safety precautions
2 Installation tips
3 Getting started
4 All package contents
5 Screen assembly
5.1 Box contents for screen assembly
6 Inner frame assembly.
7 Screen material installation
8 Outer frame assembly
9 Wall mounting
9.1 Additional tools for wall mounting
10 Decide the screen height.

11 Installing mounting brackets and spring
screws

12 Hanging the screen

13 Screen cleaning

14 Product support

15 Documents / Resources
15.1 References

16 Related Posts

Safety precautions

« The screen frames may be sharp. Hold the parts carefully to avoid possible personal injury or damage to the
floor/product.

» Make sure the wall for screen mounting is stable enough to support the weight of your ambient light rejecting
(ALR) screen.




« Never fold the screen material. Avoid any scratches or wrinkles on the screen material.

« To protect the screen, always wear gloves before touching or moving the screen material.

@O X

a I

Installation tips

Fix all screws halfway so you can make adjustments easily. Tighten all screws after adjustments.

« Fix screws halfway

i)

« Tighten after adjustment
e

Use appropriate tools to fix different screws.



PP
M w1 Q

« In the illustrations of this document, steps to complete a task are numbered with 1, and order of installation is
marked with 1 .

« ltems in the package are labeled and mentioned by English letters.

« lllustrations in this document are for reference only. The actual content may vary by the product supplied for

your region.
Getting started

1. Prepare the installation space. It should be at least 450 cm x 260 cm with a blanket to protect your floor.

177.16" (450 cm)

A
v

102.36"

(260 cm) Blanket for protection

2. Open the package. Start with reading the installation guide. Do not roll out the screen material yet.

'

Instaliation
Guide

Installation
Guide

3. Most of the package contents are inside the rolled screen material. Take package contets out. Be careful not to

fold or scratch the screen material.



VAN

4. Check all package contents

All package contents

H
] f
A
i 5
E
| BIF|D J DJ|F||B |
E L
G
A
¢ IL ‘ I \é’ &
H
] [
K = X 30 = x4 U [Eim X2
L § x 24 _J X2 v f f X8
M O X 26 = =] X1 Level @A X1
N s X 26 x2
C?Q Installation = 1
. Guide S
o | U bl x1 01 X2

Screen assembly

Box contents for screen assembly

No. Name Picture Quantity
A Long inner frame 4
E/




Short inner frame \%/ 2
Bracket 4
Long fiberglass rod 2
Short fiberglass rod 4
Long edge trim 2
Short edge trim 4
Long outer frame 4
Short outer frame 2
Center support bar 1
M5 x 10 screw 30
M4 x 4 screw 24
M4 x 60 screw with washer and spr ‘m:mm o6
ing

Nuts 26
Screen material O 1
Corner sleeve 4
3mm hex wrench 2




R Phillips screwdriver 1

S Gloves 2 pairs

Inner frame assembly.

(3] 0 (3]
QCF < = ., =~ ‘ﬂcg
B J || O B
ecf, ° A o o c e

1. Connect the left and right parts of the long inner frame (A). Fasten them with three M5x10 screws (K).

Complete the inner frame assembly of two long sides.

A

<=

i
I

2. Insert the bracket (C) to the short inner frame (B). Fasten them with two M5x10 screws (K). Complete the inner

frame assembly of two short sides.



3. Align the short inner frame (B) with the brackets (C) on both ends to the long inner frames (A) together. Fasten
them together with M5 x 10 screws (K). Follow the illustrations to install the other short side and make the inner

frame a square.

%(g/
A

E@\
<=

4. Align the center support bar (J) to the screw holes on the upper and lower inner frames. Fasten the center

support bar (J) with M4 x 4 screws (L).



N
il

e --
=2

L

\
\

5. The inner frame is a square now. Leave it aside and free the space for screen material installation.

Screen material installation

1. Wear the gloves (S) to protect the screen surface.

How-to video

Screen assembly
2. Roll out the screen material together with the protection of the supplied nonwoven sheet carefully. The front
side of the screen material is facing downwards. It should be protected by the protection sheet at all times. Do

not remove the UP sticker from the back of the screen material. You will need the indication of the right screen


https://www.benq.com/en-us/knowledge-center/knowledge/tv-projector-installation-guide.html#sns21-screen-assembly

direction during installation.

0)

®
® 0

(3 )5 (3]
(4 e (4

3. Insert the fiberglass rods (D & E) through the openings on the screen material edges. Follow the illustration to

complete the long and the short sides.

4. Snap the edge trims (F & G) to the screen material edges to hold the screen material and the fiberglass rods

together. Follow the illustration to complete the long and the short sides.




5. While the screen material is still placed and facing downwards on the floor, place the assembled inner frame
gently on top of the screen material. Adjust the edge trims (F & G) so they are alighted with the inner frame on
the same side.

6. Insert nuts (N) to the edge trims as illustrated. Insert the number of nuts to each side as specified in the
illustration. That will be 8 nuts on each long side, and 4 nuts on each short side. Slide the nuts evenly to align

with the screw holes inside each inner frame as illustrated by the circles.

Nx8
| ———

-
Nx4‘

F&G

A

e

w4
8. Fix the inner frame with the edge trim using the M4 x 60 screws (M). The screws should be fixed from the screw
holes inside the frame all the way out to the nuts just inserted into the edge trims. Follow the order specified in
the illustration to complete fixing 24 screws. Start from the middle of each side (as indicated by 1 ~ 24 ) in order
to stretch the screen material properly.
A standard set of M4 x 60 screw (M) comes with a screw, a washer and a spring. Check and remove the cap

before use.

CWI— =D wp O

2] [O7] [n] [ [2] [2] [8] [23]
:

0 t
|

[2] [20] [o] [2][E] [e] (8] [22]



9. Lift the screen material and the frame carefully without touching the screen surface. Check if the screen
material is properly stretched. To adjust the stretch, work from the screws. Once the adjustment is done, lay

down the screen gently facing downward again (with the protection of the supplied nonwoven sheet). Secure all

SCrews.

Outer frame assembly

H 00
or [ | L1PO

00 |. | 0+0

Or [L 2] p@©

. .
H 0+0
1. Align the outer frames (H & I) to the inner frame.

2. Fasten the frames with M4 x 4 (L) screws. There will be 6 screws for each long side and 3 screws for each

short side



. .
.....

3. Attach the corner sleeves (P) to the frame corners to complete the screen assembly.

P}\

t

Screen assembly is complete. Proceed with wall mounting.
Wall mounting
Box contents for wall mounting

The supplied M5 x 40 screws (V) are for screen mounting on a solid concrete wall only.
For other wall materials, you need to prepare appropriate rivets or screws separately.




No. Name Picture Quantity
T Mounting bracket U U 2
U Spring screw U U 2
M5 x 40 screw and anchor (for solid concrete walls o
Vv 8 sets

nly)

Additional tools for wall mounting

« BenQ TV projector

Tape measure (purchased separately)

« BenQ TV projector installation guide

« Screwdriver with 8mm drill bit (suitable for your wall material, purchased separately)

Level (supplied)

Pencil (for marking the screw holes, purchased separately)

Stud finder (optional, purchased separately

Decide the screen height.

Check the installation guide of your BenQ TV projector to find out the proper image size and the recommended
projector placement, including the screen height information. As indicated in the following illustration, the height of
the screen bottom comes from image bottom — TV stand surface distance (4 ) and TV stand height ( 5). The

values vary according to your needs. You are recommended to power on the projector and get to know the
desired screen height by the projected image.




.

TV projector installation guide

Installation
Guide

Installing mounting brackets and spring screws

1. Now you know the distance from the floor to the screen bottom from the previous step. Follow the illustration
below to line up the mounting brackets (T) and spring screws (U). Mark where you want to drill the screw holes.
» The supplied M5 x 40 screws (V) are for screen mounting on a solid concrete wall only. Make sure you
have the right screwdriver and screws for your wall material before drilling.

« You might need a stud finder (purchased separately) to help locate the proper screw holes for mounting.



87.2" (221.4 cm)

19.7" (50cm) 26"
187" (475cm). | 472" (121 cm) I(G.S cm)
-A—__ L ——1

il e e | w
I | !
© i [
Q | |
= 429" | | —+ 100"
& (109 cm) i } projection
o | 3 screen
é%, I

Floor

2. Use a level to ensure that the screw holes for mounting brackets (T) are aligned horizontally before drilling.
Each mounting bracket (T) should be fastened by two M5 x 40 screws (V). If you might need to adjust the

screen height, fix the screws to the center of slots as illustrated.

N 2 I AR

Vv Vv

3. Use a level to ensure that the screw holes for spring screws (U) are aligned horizontally before drilling.

s w,
Toant
wnw,
Taunt

+

Each spring screw (U) should be fastened by two M5 x 40 screws (V) screws. If you might need to adjust the

height, fix the screws to the center of slots as illustrated

—W

( -

5 oy |71

\
Qnnnnnndl—

i <

"y
"
J

[ L[I1]]]

(



Hanging the screen

1. Wear the gloves (S) to protect the screen surface.

2. Hold the screen frame with the UP sticker on the upper part of the screen and the rear side facing towards the
wall. Attach the bottom of the screen to the spring screws (U) fixed on the wall.

3. While the bottom of the screen is attached to the spring screws (U), lift the screen up a little bit from both sides
s0 you can put the upper part on the mounting brackets (T). Hold the screen frame carefully. Avoid any finger

pressure on the screen surface.
(3] wall wall

5

4. Check if the screen is mounted properly. Hold the screen from both sides and slide it up and down gently. If it is

stable, the screen mounting is complete.



Screen cleaning

Clean the screen surface once every two weeks. Wipe the screen surface gently with a wet lint-free, nonabrasive
cloth. Avoid using any liquid, aerosol, alcohol, or glass cleaners.

Product support
Should you need assistance, visit Support.BenQ.com for local product support.

Support.BenQ.com

Online Manual SNS21

——
—_—
— | /=
User -

Manual| —

Product Support


http://support.benq.com
https://support.benq.com

BenQ.com

© 2023 BenQ Corporation.
All rights reserved. Rights of modification reserved.

4J.JNJ01.001_V1.00

Documents / Resources

BenQ SNS21 Ambient Light Rejecting Screenben [pdf] User Manual
SNS21 Ambient Light Rejecting Screen, SNS21, Ambient Light Rejecting Screen, Light Rejecti
ng Screen, Rejecting Screen, Screen

References

« @@ | CD Monitors, Projectors, Speakers and Lighting | BenQ US
o @ Support | BenQ US
« & BenQ TV Projector Installation Guide | BenQ US

Manuals+,



http://benq.com
https://manuals.plus/m/0264620271f847db0e3a546ba01d07374a0982d6c2a59425eb6f91a6415905b8
https://manuals.plus/m/0264620271f847db0e3a546ba01d07374a0982d6c2a59425eb6f91a6415905b8_optim.pdf
http://benq.com
http://support.benq.com
https://www.benq.com/en-us/knowledge-center/knowledge/tv-projector-installation-guide.html#sns21-screen-assembly
https://manuals.plus/

	BenQ SNS21 Ambient Light Rejecting Screenben User Manual
	Safety precautions
	Installation tips
	Getting started
	All package contents
	Screen assembly
	Box contents for screen assembly

	Inner frame assembly.
	Screen material installation
	Outer frame assembly
	Wall mounting
	Additional tools for wall mounting

	Decide the screen height.
	Installing mounting brackets and spring screws
	Hanging the screen
	Screen cleaning
	Product support
	Documents / Resources
	References



